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and its part number on answer book, as given in the question paper.
SECTION-l il

Attempt any six parts.

Why economic problem arises?

Describe two characteristics of Economic Laws.
What is meant by Law of Diminishing Marginal Utility?
Why Marginal Utility diminishes?

Why slope of demand curve is negative?

Write four assumptions of Law of Demand.

Write two causes of Change in Supply.

(viii) What is meant by Law of Supply?

(i)

(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

NOTE: Attempt any three questions.

)

0o 2 X o

What is meant by Equilibrium?

What is meant by Gross National Product?

Write any two factors on which national income depends.

Write any four functions of money.

Define credit money and give two examples.
What is meant by Value of Money?

What is Demand Pull Inflation?

Differentiate between Boom and Depression in a trade cycle.

State two reasons of dis-equilibrium in balance of payments.

Define indirect tax and present two examples.
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S /”,..,.Lf’l.vr':(_i.yu..rx (vii)
el ple s 96 (viii)
?‘LJL/(_.)/..’:.UJ@.J:JJP (ix)

Attempt any six parts. 12=2x6 .gi.}f.-ywx&lzz Lg;.&f _Sﬁ‘dif
Define Equilibrium Price. LI beduiz ()
What is meant by Mobility of Labour? Sl e ek 78es (i)
Define Total Product. SIS f i)
What is meant by Short Run? ?.?.:ygf;ﬁ;j (iv)
Define Marginal Costs. SIw e ()
Define Total Revenues. ulw5eS wi)
Draw MR and AR curves under Monopoly. LBl bﬁsU’" b bt ool (i)
i) Define Wages. SISl (iii)
State any two characteristics of Land. Hufgagar“%;gfu:) (ix)
Attempt any six parts. 12=2x6 -.é(i&&!i.’élﬂg’aéf ..4/::Ulr

?ié.)!/l:rgjlsf)“;d}]’u (i)
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SECTION-I 5.

Write the merits and demerits of Marshall's definition of Economics.
Explain Law of Demand with the help of schedule and diagram.

Describe Firm's Equilibrium under Monopoly.

What is meant by Quantity Theory of Money? Explain it.

Explain the different phases of Trade cycle.
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to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

A A

(1) Economics by its scope is which type of science: / Y g&.-ﬂ;"ic)}‘kifg z‘_..l:,?b» (1)
(A) Normative Science wc 4/  (B) Art ¢/ (C) Art and Science ¢/l (D) Science

(2) When marginal utility is zero the total utility is: —«:—fmﬁﬁ'ufpﬂ/“ sl (2)
(A) Negative d‘" (B) Positive =3 C) Zero & (D) Maximum ss} je—0sLJ

(3) Decrease in demand due to rise in its price is regarded as: H;,}‘..;:.fg..ﬂr( L VU’JJ e ISR s Jz;.u’( (3)
A) Contraction in demand t 5 (o (B) Rise in demand (=Y
(C) Fall in demand L/t (A (D) Expansion in demand $§4 ¢

(4) Why supply curve is positively sloped? ?‘Lmu{ A5 KR Kl (4)
(A) Demand for cash money .:«»ﬁd/ﬁd ‘é Increase in profit Jlelge 5'3v y
(C) Threat of war a}»?b/._é (D) Obstacles in the way of transportation .*.ub’)u:d_/;_g y?JJ’,J"éus

(5) When the business is under constant return mymaubas’uﬁwi.—.ﬁli‘;mdtif bl 31 S ssb (5)

then what law of cost is applied? A) Constant cost JJL"'JLI (B) Imphmt cost r..-JLﬂ“‘/‘V

(C) Increasing cost ..JJL#;‘F (D) Decreasing cost .JJWL}

(6) Which one is an envelop curve? _\_{/gjuuud/ {Envelop curve) [3,-5‘-19' &)
(A) SAC L¥_ilarbori6 2. f ‘(/B) LAC L¥ilerbalb fdsr
(C) SMC K S p (D) LMC  6ile ¥ f shor

(7) Under perfect competition TR has the trend of: —cbrg@k (JR) b feil e (7
(A) Falling 1srt/ (B) Horizontal (C) Vertical (¥ "‘gRlsmg =

(8) If iym controls the whole supply of a commodity,is called: - tblie % tpd:/-‘f}‘gfr/w Ll a8 Jz_o’f" (&)
(A) Monopoly S.inse!  (B) Bi-lateral monopoly (sl A (C) Duopoly s/bss (D) Oligopoly s/los3

(9) Which one of the followirig is an increasing function of real wage(w)? ﬁ:.qu:U‘ Lvd/'f F (w) =2 13 B4 (9)
(A) Demand for labour (D, )ebf=# (B) Rate of interest (i) 7/

*g} Supply of labour (SL) ,wJ.:::' (D)} Investment (1) de,'. Y
(10) Unemployment allowance is included in: U= AL e (10)
{K?ransfer payments ug-?b:dti‘r (B) Net national product sl }J'J b

(C) Gross national product sl ($ .3("\; (D) Production cost JjL}:;J [

(11) Which cne of the following is the di:?)(fy of Barter System? ‘-'c;-ﬁ&fé-rﬂ(b%@éufw (11)
(A) Plenty of goods GIJI}J_.L;J ) Lack of double coincidence of certain wants di:'l&f(xj)’ud’?lnfaﬂf"
(C) Language differences J 6/t (D) Professional differences J/UtUss

(12) What is the best option for the control of deflation? WA Ll S P (12)
(A) Recrease in expenditure ufut;,lgfﬁ (B) Increase in rate of interest St~

Increase in expenditure Il = bl (D) Surplus budget AL

(13) From which country werld wide depression started? v?'?ﬁ’/z’—u@/ L'J'f'c;' Lvu) L (13)
(A) France e/} (B) Russia U (C) China = .| D) USA = £/

(14) To protect domestic industries from the foreign “»f_db&ufujtduﬁ-éielfcé-h%gc/!@?’v“ (14)

competition, a country adopis the policy of:
(A) Open trade 7307 tg)mprotection wat (C) Exchange control J;,P/é‘:fff (D) Reduction in taxes L(J:uf?
(15) When financial year starts in Pakistan? b bn IETE LT (15)

(A) 1st March < &Ad

(B) 1st December 54

() 1stMay = (¥ (D) st duly = Juzd
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